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NAD-EEMBISE (NAD-MDH) RFIEZRIFHE
SICHEE 50 B/48 1

E OB FRXNERSSLE 2-3 MEE SR ARREAR TN E

MEREX :

MDH (EC 1.1.1.37) J"ZAFETZW) . Y. SRR FR4Ip R, Zekifd st MDH J/& TCA 1l 15
Bz —, AV RBRE RSB ARR; M&, K MDH (B 5 EE Z B S R R . BB 2R EE
Y, R AEENNREHESE. Kk, MDH EAIME A B S IEE EEN A A, OREELRA
MRS, ERR-RAERFR ARG SRR AU IS . ARIEAF 104 EER , MDH 434
NAD-f&#iff) MDH F1 NADP-#&fift) MDH, #H i@ # R & NAD-MDH, fEEZAME T, NAD-MDH 4
AT T4 LSRR A

MEFE:
NAD-MDH 41k NADH if JR 5l 2. B4 e SRR, S8 340nm AR il R & .

mEEHMUENRR:
AP GAE O K. TR 1 mL A AN R K .

WA LA RRFOECH :

WA FE 60 mLx1 i, 7F 4°CHRAFE,

WA Witk 50 mLx1 i, 7F 4°CIRA7;

WA= B7iix2 %, -20°CHRA7: IR FRTAIN 300uL 808K, MR : AT IR 23520 C IR
17, FIbRE %R

WA, F7x2 3, -20°CHRA7s IR FHRTAIN 300uL Z808/K, 7o/ isrs i A S IR 70 2 520 C R
17, bR G %R

HANERNES:
1. 4058, ZHARBZH SR T I

A TR, e B B B 0N, B0 AR R R (100 ik
Fl—4&F (mL) A 1000~5000: 1 fILLH] CEEIL 2000 740 SLANMINA ImL 37— ), 875 il Bl e 2 1 ok
Y (UK, ThEE 20% 8K 200W, A 3s, 1AK% 10s, EH 30 K); 8000g 4°CE.L» 10min, B EiE, BEIK
A

M HRALRE (g « WH KB mL) A 1: 5~10 BILLH] CEIFRINZ 0.1g A4, A 1mL iR
=), HATIKIREIHK . 8000g 4°CES > 10min, HL biE, BEIK AN,
2. M CRO FE&: BN,
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/MEZE%
1. A6 E A 30min LA, FTTRKE 340nm, ZAEKIHE.
2. HEF FE 37°C UEFELBh) B 25°C (HEM) KIS 10min A L.

3. HRER:
WAL (UL e fL
FEA 20
177 - 760
A= 10
R IY 10

B FIRRFILFF I 1 mL AZEtb @I, VB2 G SLENFE 340 nm K FiCEWIEEWOEE Al I 1min
SRR A2, 115 AA=A1-A2.

ER: & AL-A2 KT 05, FREEATRERARE, 1§ A1-A2 /M 05, aJfEEallREUE. +EA L+
e LUAH AR5 5

NAD-MDH FE R E:

1. IfyE (%) NAD-MDH & /it

AL E X BETHNE G8) B 8EFE 1 nmol () NADH & SUN—AMEE /1847,

NAD-MDH (nmol/min/mL) =[AAXV Z i+ (exd) x109]+V FE+T=6430xAA

2. 4. E AN R NAD-MDH 3% /7 HHH5:

(1D FEREARE IR
AL E X 48 mg AR A5 B EFE 1 nmol ¥ NADH 5& SCA— MBS 1 5L

NAD-MDH (nmol/min/mg prot) =[AAXV &+ (exd) x10°]+(V ££xCpr) +T=6430xAA+Cpr

(2) IEREAREEE T
BRTHIE X B g HEEES B FE 1 nmol B NADH & SN —ME 1847

NAD-MDH (nmol/min/g #8) =[AAXV &+ (exd) x109+ (Wx V FE=V FEED T =6430xAA+W

(3) HZ&4H T s 5 i 5
FALAE S B 1 AT B AR 7 B FE 1 nmol B NADH € SCN— Mg /1 A

NAD-MDH (nmol/min/10% cell) =[AAXV [+ (exd) x109]+= (2000xV iV FEE) =T=3.215%xAA
VB NARRBARR, 8x104L; e: NADH FE/RIEE RS, 6.22x10°L/mol /em; d: L IILYE4E,

lem; V£ IIAFEARER, 0.02mL; V EEE: IARBURAF, 1mL; T: KMEE, 1ming W: £A
i, g Cpr: BEAZEAFIKE, mg/mL; 2000: 40BN S35, 2000 /5.
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